San Antonio Water System

Job # : 17-4547

San Antonio Water System Solicitation Vendor Price List

Prepared By: S. Manzello

Solicitation No : CO-00166

Contract No :

SAN ANTONIO WATER SYSTEM

PO Box:2994

San Antonio, Texas, 78298-2449

TABULATION OF BIDS

Proposal: 2018 CIPP Small Pipe Diameter Package
Bid Opening: June 12, 2018 - 10:30AM - CR-C145

Price List

				CO-00166 - 1_	PM CONSTRUCT	TON & REHAB LP	CO-0016	66 - 2_SAK CON	STRUCTION	CO-00166 - 3_CRUZ TEC INC			
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	
1	103.1	REMOVE CONCRETE CURB (COSA SPEC)	LF	\$1.50	40	\$60.00	\$5.00	40	\$200.00	\$5.00	40	\$200.00	
2	103.3	REMOVE SIDEWALKS AND DRIVEWAYS (COSA SPEC)	SF	\$0.50	222	\$111.00	\$5.00	222	\$1,110.00	\$6.00	222	\$1,332.00	
3	103.4	REMOVE MISC CONCRETE (COSA SPEC)	SF	\$0.50	40	\$20.00	\$11.00	40	\$440.00	\$12.00	40	\$480.00	
4	203.1	TACK COAT (COSA SPEC)	GAL	\$16.00	713	\$11,408.00	\$3.00	713	\$2,139.00	\$15.00	713	\$10,695.00	
5	205.2	HMAC PAVEMENT, TY B (2" COMPACT DEPTH) (COSA SPEC) TEMPORARY PAVEMENT PATCH	SY	\$73.00	50	\$3,650.00	\$120.00	50	\$6,000.00	\$50.00	50	\$2,500.00	
6	205.2	HMAC PAVEMENT, TY B (3" COMPACT DEPTH) (COSA SPEC) TEMPORARY PAVEMENT PATCH	SY	\$80.00	50	\$4,000.00	\$140.00	50	\$7,000.00	\$55.00	50	\$2,750.00	
7	205.3	HMAC PAVEMENT TY C (3" COMPACTED DEPTH) (COSA SPEC)	SY	\$100.00	3,384	\$338,400.00	\$20.00	3,384	\$67,680.00	\$78.00	3,384	\$263,952.00	
8	205.4	HMAC PAVEMENT TY D (2" COMPACTED DEPTH) (COSA SPEC)	SY	\$86.50	3,717	\$321,520.50	\$14.00	3,717	\$52,038.00	\$75.00	3,717	\$278,775.00	
9	206.1	ASPHALT TREATED BASE (10" COMPACTED DEPTH) (COSA SPEC)	SY	\$20.00	219	\$4,380.00	\$94.00	219	\$20,586.00	\$90.00	219	\$19,710.00	
10	206.2	ASPHALT TREATED BASE (12" COMPACTED DEPTH) (COSA SPEC)	SY	\$24.00	34	\$816.00	\$330.00	34	\$11,220.00	\$95.00	34	\$3,230.00	
11	208.1	SALVAGE HAUL, & STOCKPILE RECLAIMED ASPHALT PAVING (2" DEPTH) COSA SPEC)	SY	\$20.00	3,513	\$70,260.00	\$20.00	3,513	\$70,260.00	\$11.00	3,513	\$38,643.00	
12	208.1	SALVAGE HAUL, & STOCKPILE RECLAIMED ASPHALT PAVING (3" DEPTH) COSA SPEC)	SY	\$13.50	5,268	\$71,118.00	\$21.00	5,268	\$110,628.00	\$13.00	5,268	\$68,484.00	
13	413.1	FLOWABLE FILL (COSA SPEC)	CY	\$166.50	100	\$16,650.00	\$120.00	100	\$12,000.00	\$152.00	100	\$15,200.00	
14	500.1	CONCRETE CURB (COSA SPEC)	LF	\$17.50	100	\$1,750.00	\$21.00	100	\$2,100.00	\$32.00	100	\$3,200.00	
15	502.1	CONCRETE SIDEWALKS (COSA SPEC)	SY	\$82.50	100	\$8,250.00	\$42.00	100	\$4,200.00	\$65.00	100	\$6,500.00	
16	503.1	CONCRETE DRIVEWAY (COSA SPEC)	SY	\$89.00	100	\$8,900.00	\$63.00	100	\$6,300.00	\$95.00	100	\$9,500.00	
17	507.1	NEW RESIDENTIAL CHAIN LINK WIRE FENCE (4 FT. HIGH) (COSA SPEC)	LF	\$20.00	150	\$3,000.00	\$19.00	150	\$2,850.00	\$28.00	150	\$4,200.00	
18	507.6	NEW RESIDENTIAL WOOD PRIVACY FENCE (6 FT. HIGH)	LF	\$24.00	150	\$3,600.00	\$21.00	150	\$3,150.00	\$35.00	150	\$5,250.00	
19	507.7	REMOVE & REPLACE MISC OTHER FENCE, GATES, ALL TYPES	LF	\$37.00	50	\$1,850.00	\$21.00	50	\$1,050.00	\$135.00	50	\$6,750.00	
20	515.1	TOPSOIL (COSA SPEC)	CY	\$40.00	23	\$920.00	\$42.00	23	\$966.00	\$29.00	23	\$667.00	
21	516.1	BERMUDA SODDING (COSA SPEC)	SY	\$6.50	184	\$1,196.00	\$16.00	184	\$2,944.00	\$12.00	184	\$2,208.00	

				CO-00166 - 1_F	PM CONSTRUC	TION & REHAB LP	CO-00166	- 2_SAK CON	STRUCTION	CO-00166 - 3_CRUZ TEC INC		
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
22	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 1)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
23	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 2)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
24	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 3)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
25	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 4)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
26	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 5)	EA	\$13,000.00	1	\$13,000.00	\$7,400.00	1	\$7,400.00	\$5,500.00	1	\$5,500.00
27	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 6)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
28	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 7)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
29	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 8)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
30	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 9)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
31	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 10)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
32	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 11)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
33	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 12)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
34	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 13)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
35	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 14)	EA	\$13,000.00	1	\$13,000.00	\$5,300.00	1	\$5,300.00	\$5,500.00	1	\$5,500.00
36	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 15)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
37	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 16)	EA	\$13,000.00	1	\$13,000.00	\$3,200.00	1	\$3,200.00	\$5,500.00	1	\$5,500.00
38	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 17)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
39	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CEC - PL 18)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
40	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 19)	EA	\$13,000.00	1	\$13,000.00	\$2,600.00	1	\$2,600.00	\$5,500.00	1	\$5,500.00
41	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 20)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
42	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 21)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
43	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 22)	EA	\$13,000.00	1	\$13,000.00	\$10,500.00	1	\$10,500.00	\$5,500.00	1	\$5,500.00
44	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 23)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
45	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 24)	EA	\$13,000.00	1	\$13,000.00	\$2,100.00	1	\$2,100.00	\$5,500.00	1	\$5,500.00
46	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 25)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
47	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 26)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
48	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 27)	EA	\$13,000.00	1	\$13,000.00	\$1,600.00	1	\$1,600.00	\$5,500.00	1	\$5,500.00
49	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 28)	EA	\$13,000.00	1	\$13,000.00	\$3,200.00	1	\$3,200.00	\$5,500.00	1	\$5,500.00
50	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 29)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00
51	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 30)	EA	\$13,000.00	1	\$13,000.00	\$8,400.00	1	\$8,400.00	\$5,500.00	1	\$5,500.00

				CO-00166 - 1_	PM CONSTRUCT	ΓΙΟΝ & REHAB LP	CO-0016	66 - 2_SAK CON	STRUCTION	CO-00166 - 3_CRUZ TEC INC			
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	
52	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MAESTAS - PL 31)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00	
53	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CDS MUERY - PL 32)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00	
54	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (CDS MUERY - PL 33)	EA	\$13,000.00	1	\$13,000.00	\$3,200.00	1	\$3,200.00	\$5,500.00	1	\$5,500.00	
55	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (MERRICK - PL 34)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00	
56	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING (AZ&B - PL 35)	EA	\$13,000.00	1	\$13,000.00	\$1,000.00	1	\$1,000.00	\$5,500.00	1	\$5,500.00	
57	535.1	4 INCH WIDE YELLOW LINE	LF	\$133.00	573	\$76,209.00	\$3.00	573	\$1,719.00	\$5.15	573	\$2,950.95	
58	535.2	4 INCH WIDE WHITE LINE	LF	\$133.00	60	\$7,980.00	\$4.00	60	\$240.00	\$5.15	60	\$309.00	
59	535.9	WHITE LEFT ARROW	EA	\$200.00	1	\$200.00	\$210.00	1	\$210.00	\$75.00	1	\$75.00	
60	535.22	MEDIAN NOSE YELLOW	EA	\$200.00	1	\$200.00	\$210.00	1	\$210.00	\$105.00	1	\$105.00	
61	537.8	PAVEMENT MARKER (TY II-A-A)	EA	\$133.00	36	\$4,788.00	\$8.00	36	\$288.00	\$15.00	36	\$540.00	
62	550	TRENCH EXCAVATION SAFETY PROTECTION	LF	\$1.50	923	\$1,384.50	\$1.00	923	\$923.00	\$5.00	923	\$4,615.00	
63	851	EXISTING MANHOLE ADJUSTMENT (WITH NEW RING & COVER)	EA	\$1,360.00	5	\$6,800.00	\$3,200.00	5	\$16,000.00	\$2,500.00	5	\$12,500.00	
64	852.1	SANITARY SEWER MANHOLE, 4 FT. DIAMETER (0'-6')	EA	\$9,181.50	5	\$45,907.50	\$9,500.00	5	\$47,500.00	\$8,500.00	5	\$42,500.00	
65	852.3	EXTRA DEPTH MANHOLES, 4 FT. DIAMETER (>6')	VF	\$273.00	15	\$4,095.00	\$590.00	15	\$8,850.00	\$450.00	15	\$6,750.00	
66	854.1	SANITARY SEWER LATERALS	LF	\$1,767.00	50	\$88,350.00	\$110.00	50	\$5,500.00	\$85.00	50	\$4,250.00	
67	854.2	TWO-WAY SANITARY SEWER CLEAN-OUT	EA	\$966.50	10	\$9,665.00	\$740.00	10	\$7,400.00	\$1,200.00	10	\$12,000.00	
68	855	RECONSTRUCTION OF EXISTING MANHOLES	EA	\$11,808.50	10	\$118,085.00	\$8,200.00	10	\$82,000.00	\$3,500.00	10	\$35,000.00	
69	864-S1	BYPASS PUMPING, SMALL PIPE (COUNTRY PKWY XEZMNT [CEC])	LS	\$15,000.00	1	\$15,000.00	\$5,300.00	1	\$5,300.00	\$25,000.00	1	\$25,000.00	
70	864-S1	BYPASS PUMPING, SMALL PIPE (RHAPSODY EZMNT [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$15,500.00	1	\$15,500.00	
71	864-S1	BYPASS PUMPING, SMALL PIPE (VALLIANT CHEZMNT [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00	
72	864-S1	BYPASS PUMPING, SMALL PIPE (WARFIELD [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$9,500.00	1	\$9,500.00	
73	864-S1	BYPASS PUMPING, SMALL PIPE (WARFIELD EZMNT [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$9,500.00	1	\$9,500.00	
74	864-S1	BYPASS PUMPING, SMALL PIPE (NAKOMA EZMNT [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$15,500.00	1	\$15,500.00	
75	864-S1	BYPASS PUMPING, SMALL PIPE (BUSBY NEW BRAUNFELS [CEC])	LS	\$30,000.00	1	\$30,000.00	\$10,500.00	1	\$10,500.00	\$15,500.00	1	\$15,500.00	
76	864-S1	BYPASS PUMPING, SMALL PIPE (LAURELHURST [CEC])	LS	\$30,000.00	1	\$30,000.00	\$2,000.00	1	\$2,000.00	\$25,500.00	1	\$25,500.00	
77	864-S1	BYPASS PUMPING, SMALL PIPE (BUSBY ALLEY X [CEC])	LS	\$30,000.00	1	\$30,000.00	\$2,000.00	1	\$2,000.00	\$15,500.00	1	\$15,500.00	
78	864-S1	BYPASS PUMPING, SMALL PIPE (BUSBY FLAMINGO PKWY [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00	
79	864-S1	BYPASS PUMPING, SMALL PIPE (FLAMINGO ALLEY [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00	
80	864-S1	BYPASS PUMPING, SMALL PIPE (TREASURE WAY ALLEY [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00	
81	864-S1	BYPASS PUMPING, SMALL PIPE (BURNSIDE CRANDALL ALLEY [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00	

				CO-00166 - 1_F	PM CONSTRUC	TION & REHAB LP	CO-001	66 - 2_SAK CON	ISTRUCTION	CO-0	00166 - 3_CRUZ	TEC INC
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
82	864-S1	BYPASS PUMPING, SMALL PIPE (BURNSIDE ALLEY [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
83	864-S1	BYPASS PUMPING, SMALL PIPE (CAVE EZMNT [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
84	864-S1	BYPASS PUMPING, SMALL PIPE (PAUL [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
85	864-S1	BYPASS PUMPING, SMALL PIPE (F STREET [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
86	864-S1	BYPASS PUMPING, SMALL PIPE (AMANDA [CEC])	LS	\$30,000.00	1	\$30,000.00	\$2,000.00	1	\$2,000.00	\$20,500.00	1	\$20,500.00
87	864-S1	BYPASS PUMPING, SMALL PIPE (KAYTON ALLEY X [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
88	864-S1	BYPASS PUMPING, SMALL PIPE (NAYLOR [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
89	864-S1	BYPASS PUMPING, SMALL PIPE (HOBSON ALLEY [CEC])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
90	864-S1	BYPASS PUMPING, SMALL PIPE (BABCOCK [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
91	864-S1	BYPASS PUMPING, SMALL PIPE (DEEP SPRING [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
92	864-S1	BYPASS PUMPING, SMALL PIPE (RENNER CH EZMNT [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
93	864-S1	BYPASS PUMPING, SMALL PIPE (GRISSOM XING [MAI])	LS	\$30,000.00	1	\$30,000.00	\$2,000.00	1	\$2,000.00	\$15,500.00	1	\$15,500.00
94	864-S1	BYPASS PUMPING, SMALL PIPE (MULBERRY OFFSTR [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
95	864-S1	BYPASS PUMPING, SMALL PIPE (COMMERCE [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
96	864-S1	BYPASS PUMPING, SMALL PIPE (MEDIO CR SITE [MAI])	LS	\$15,000.00	1	\$15,000.00	\$15,800.00	1	\$15,800.00	\$28,500.00	1	\$28,500.00
97	864-S1	BYPASS PUMPING, SMALL PIPE (HERSHEY ALLEY [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
98	864-S1	BYPASS PUMPING, SMALL PIPE (SEA BREEZE XALLEY [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$15,500.00	1	\$15,500.00
99	864-S1	BYPASS PUMPING, SMALL PIPE (GERALD KYLE [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
100	864-S1	BYPASS PUMPING, SMALL PIPE (GERALD LENARD [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
101	864-S1	BYPASS PUMPING, SMALL PIPE (COMMERCIAL [MAI])	LS	\$30,000.00	1	\$30,000.00	\$2,000.00	1	\$2,000.00	\$35,000.00	1	\$35,000.00
102	864-S1	BYPASS PUMPING, SMALL PIPE (LAUREL LEE [MAI])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
103	864-S1	BYPASS PUMPING, SMALL PIPE (AR40 IRVINGTON [CDSM])	LS	\$15,000.00	1	\$15,000.00	\$2,000.00	1	\$2,000.00	\$7,500.00	1	\$7,500.00
104	864-S1	BYPASS PUMPING, SMALL PIPE (V8 RED BUD [CDSM])	LS	\$15,000.00	1	\$15,000.00	\$10,500.00	1	\$10,500.00	\$28,500.00	1	\$28,500.00
105	864-S1	BYPASS PUMPING, SMALL PIPE (DICKSON [MERRICK])	LS	\$60,000.00	1	\$60,000.00	\$2,000.00	1	\$2,000.00	\$18,500.00	1	\$18,500.00
106	864-S1	BYPASS PUMPING, SMALL PIPE (POPLAR MENCHACA [AZB])	LS	\$30,000.00	1	\$30,000.00	\$15,800.00	1	\$15,800.00	\$35,000.00	1	\$35,000.00
107	866	SEWER MAIN TELEVISION INSPECTION (6" THRU 15")	LF	\$4.00	16,477	\$65,908.00	\$4.00	16,477	\$65,908.00	\$6.50	16,477	\$107,100.50
108	866	SEWER MAIN TELEVISION INSPECTION (18" THRU 24")	LF	\$4.00	814	\$3,256.00	\$9.00	814	\$7,326.00	\$7.50	814	\$6,105.00
109	901.06	CIPP 6" SANITARY SEWER PIPE, ALL DEPTHS	LF	\$113.50	184	\$20,884.00	\$100.00	184	\$18,400.00	\$135.00	184	\$24,840.00
110	901.08	CIPP 8" SANITARY SEWER PIPE, ALL DEPTHS	LF	\$70.50	12,562	\$885,621.00	\$66.00	12,562	\$829,092.00	\$51.00	12,562	\$640,662.00
111	901.1	CIPP 10" SANITARY SEWER PIPE, ALL DEPTHS	LF	\$63.00	1,534	\$96,642.00	\$76.00	1,534	\$116,584.00	\$58.00	1,534	\$88,972.00

				CO-00166 - 1_F	PM CONSTRUCTION & REHAB LP		CO-0016	66 - 2_SAK CONS	TRUCTION	CO-00166 - 3_CRUZ TEC INC			
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	
112	901.12	CIPP 12" SANITARY SEWER PIPE, ALL DEPTHS	LF	\$110.00	233	\$25,630.00	\$100.00	233	\$23,300.00	\$65.00	233	\$15,145.0	
113	901.15	CIPP 15" SANITARY SEWER PIPE, ALL DEPTHS	LF	\$92.50	1,964	\$181,670.00	\$90.00	1,964	\$176,760.00	\$86.00	1,964	\$168,904.0	
114	901.18	CIPP 18" SANITARY SEWER PIPE, ALL DEPTHS	LF	\$118.50	814	\$96,459.00	\$90.00	814	\$73,260.00	\$110.00	814	\$89,540.0	
115	910.1	MANHOLE REHABILITATION (ALL DIAMETERS)	VF	\$568.00	629	\$357,272.00	\$240.00	629	\$150,960.00	\$450.00	629	\$283,050.0	
116	1103.1	POINT REPAIRS FOR 6" THROUGH 10" DIAMETER, (0'-10')	EA	\$5,100.50	32	\$163,216.00	\$3,200.00	32	\$102,400.00	\$3,500.00	32	\$112,000.0	
117	1103.1	POINT REPAIRS FOR 6" THROUGH 10" DIAMETER, (10'-15')	EA	\$7,981.00	7	\$55,867.00	\$4,200.00	7	\$29,400.00	\$4,200.00	7	\$29,400.0	
118	1103.1	POINT REPAIRS FOR 6" THROUGH 10" DIAMETER, (> 15')	EA	\$9,071.00	1	\$9,071.00	\$8,400.00	1	\$8,400.00	\$4,600.00	1	\$4,600.0	
119	1103.1	POINT REPAIRS FOR 12" THROUGH 15" DIAMETER, (0'-10')	EA	\$5,257.00	9	\$47,313.00	\$3,700.00	9	\$33,300.00	\$9,500.00	9	\$85,500.0	
120	1103.1	POINT REPAIRS FOR 18" THROUGH 21" DIAMETER, (0'-10')	EA	\$7,768.00	2	\$15,536.00	\$4,200.00	2	\$8,400.00	\$9,500.00	2	\$19,000.0	
121	1103.1	POINT REPAIRS FOR 18" THROUGH 21" DIAMETER, (10'-15')	EA	\$10,524.50	1	\$10,524.50	\$6,300.00	1	\$6,300.00	\$12,500.00	1	\$12,500.0	
122	1103.2	EXTRA LENGTH POINT REPAIR, ALL DIAMETER, ALL DEPTHS	LF	\$126.50	618	\$78,177.00	\$32.00	618	\$19,776.00	\$75.00	618	\$46,350.0	
123	1103.3	OBSTRUCTION REMOVAL BY EXCAVATION, 6" THROUGH 21" DIAMETER, ALL DEPTHS	EA	\$1,400.00	6	\$8,400.00	\$3,700.00	6	\$22,200.00	\$5,500.00	6	\$33,000.0	
124	1103.4	OBSTRUCTION REMOVAL BY REMOTE DEVICE FOR 6" THROUGH 10" DIAMETER, (ALL DEPTHS)	EA	\$340.50	35	\$11,917.50	\$320.00	35	\$11,200.00	\$750.00	35	\$26,250.0	
125	1103.4	,	EA	\$375.00	5	\$1,875.00	\$530.00	5	\$2,650.00	\$950.00	5	\$4,750.0	
126	1103.4	OBSTRUCTION REMOVAL BY REMOTE DEVICE FOR 18" THROUGH 21" DIAMETER, (ALL DEPTHS)	EA	\$443.00	2	\$886.00	\$790.00	2	\$1,580.00	\$1,450.00	2	\$2,900.0	
127	1109	SERVICE RECONNECT, ALL DEPTHS (W/ REMOTE CONTROL CUT DEVICE)	EA	\$410.50	283	\$116,171.50	\$150.00	283	\$42,450.00	\$50.00	283	\$14,150.0	
128	1109.1	SERVICE RECONNECT, (W/ OPEN CUT EXCAV, ALL DEPTHS, INCL UP TO 10 LF OF LATERAL)	EA	\$9,071.00	6	\$54,426.00	\$3,700.00	6	\$22,200.00	\$1,800.00	6	\$10,800.0	
129	SS9001	RECONSTRUCTION OF MASONRY MAILBOX	EA	\$1,467.00	1	\$1,467.00	\$5,300.00	1	\$5,300.00	\$1,250.00	1	\$1,250.0	
130	6001	PORTABLE MESSAGE SIGN (TXDOT SPEC)	MD	\$666.50	20	\$13,330.00	\$130.00	20	\$2,600.00	\$350.00	20	\$7,000.0	
			Total			\$4,732,043.00			\$2,531,847.00			\$3,385,589.4	